Struktura zkousky NJAZ091 Anglicky jazyk a ukazky tuloh

Nasledujici priklady jsou pouze ilustrativni. Obsahové zaméreni ¢i obtiznost zkusebnich Gloh se mize
lisit.

Kandidatim zkousky se doporucuje, aby si béhem své pripravy na zkousku vyzkouseli vyplnit
autentické testy na Urovni zkousek Cambridge Exams: First (FCE) a Cambridge Exams: Advanced
(CAE).

Listening comprehension (vzdy dvé ulohy, celkem 20 bodti)

Prifazovani (kandidat zkousky pfifazuje napfiklad mluvéi k vyroklm apod.)

A Itwas good value for money.

Speaker 2 - 0

B | gotto see some really interesting places.

H

PF. http://www.examenglish.com/CAE/cae listening4.htm

nebo

Vybér z nabidky odpovédi (multiple choice)

Speaker 1
1 How did the speaker feel during the move?

A He felt it might be impossible to downsize.
B He found the experience very exciting.
C He was relieved to get rid of so many things.

2 How does he feel about his new flat?

A He hates the uncluttered space.
B It can seem very enclosed and cramped.
C He enjoys spending time in it.

Pf. http://www.examenglish.com/CAE/cae listeningl.htm

nebo

Oteviené otazky (kandidat zkousky odpovida na otazky, které se vztahuji k textu)
What is the E-project?

How many people visit London a year?
nebo

Doplfiovani vynechanych slov do vét bez nabidky odpovédi
Fill in missing wordes.

Kathy spent the afternoon looking for the phone and finally John admitted taking it because
he hadn't known that it was

Pf. http://www.examenglish.com/FCE/fce listening part2 test2.htm



http://www.examenglish.com/CAE/cae_listening4.htm
http://www.examenglish.com/CAE/cae_listening1.htm
http://www.examenglish.com/FCE/fce_listening_part2_test2.htm

Reading Comprehension (celkem 35 bodii)

Cast 1

Uloha A: vybér z vice odpovédi (kandidat zkougky vybird ze ¢tyi odpovédi, z nich? jen jedna je
spravna), 6 bodu

What do we learn about Margherita in the first paragraph?

A She became a radio presenter by chance.
B She expected to win the competition.

C She was keen to become a radio presenter.
D She practised before the competition.

Pf. http://www.examenglish.com/CAE/cae readingl.htm

Uloha B: hledani synonym (kandidat zkougky hledd v textu synonyma k zadanym vyraziim), 8 bodd

Find a synonym for the word diligent in the first paragraph.

Uloha C: vybér z vice odpovédi (kandidat zkousky pfifazuje k vyrazu jeho interpretaci ¢i parafrazi
z nabidky, v nizZ jen jedna odpovéd je spravna), 6 bodu

The phrase hit the roof (line 12) means: a/ get angry, b/ ..., ¢/ ..., d/ ...
Cdst 2
Uloha D: tzv. cloze test (kandidat zkousky dopliuje jedno slovo do uceleného textu na zakladé
kontextu vymezeného textem), 10 bodu
Others followed Stewart's example and soon there were stores (23) .......... his in many major cities
in the United States. We don’t (24) .......... when people started calling them department stores.
The expression wasn't used in print (25) .......... 1893, when it appeared in Harper's magazine, but

the way that it is used there (26) .......... it clear that it was already widely understood.

PF. http://www.flo-joe.co.uk/cae/students/tests/ocltstl.htm

Uloha E: dopInéni vyrazu (slova, fraze) z nabidky slov mezery ve vété, 5 bod(i
Fill an appropriate phrasal verb in each gap:
Get up —give up —show up - ...

1. | smoking last year.
2.

Pf. http://www.myenglishpages.com/site php files/grammar-exercise-phrasal-verbs.php



http://www.examenglish.com/CAE/cae_reading1.htm
http://www.flo-joe.co.uk/cae/students/tests/ocltst1.htm
http://www.myenglishpages.com/site_php_files/grammar-exercise-phrasal-verbs.php

Use of English (celkem 35 bodu)

Uloha A: vybér z vice odpovédi (kandidat zkougky doplfiuje do uceleného textu slova/fraze z nabidky,
v niZ jen jedna odpovéd je spravna), 10 bodl

Samples of the vast amounts of tea brought into the country to (7) ..... the national thirst go to the
London Tea Trade Centre, where they are tasted by (8) ..... professional tea tasters before being
sold at each week’s tea sale. It is fascinating to see them at (9) ..... . Over a hundred samples are
(10) - in a line on long tables. Teas are generally tasted with milk, (11) ..... that is how the
majority in Britain drink their tea. The tasters move down the line with surprising (12) ..... , tasting

each sample from a spoon and deciding what is a (13) ..... price for each tea.

7 A satisfy B match c answer D serve

8 A effective B skilled c developed D handy

9 A action B  operation C  practice D work
10 A composed B put up c settled D laid out
1 A out of B since c so D owing to
12 A speed B hurry c rush D dash
13 A fine B right c fair D deserved

PF. http://www.flo-joe.co.uk/cae/students/tests/mcclze3.htm

Uloha B: transformace (kandidat zkousky parafrazuje véty tak, aby zachoval jejich vyznam; m@ze byt
pozadovano konkrétni slovo nebo omezen pocet pouzitych slov), 10 bodu

‘Have you seen my gloves anywhere, Eric?’ asked Mrs Noble.

seen

MES NobleBSKE® ERC: . ..coonessmesmsmussmsersenspamusmusssms s her gloves anywhere.

Suzanne was too excited to sleep.
that

SUZANNE WAS ...eoeiiiiiiieeeeeeeiiire e ae e eaaenas not sleep.

PF. http://www.esl-lounge.com/student/advanced/cae-050-key-word-transformations-exercise.php

Uloha C: slovotvorba (kandidat zkougky doplriuje do uceleného textu slovni tvary utvorené ze
zadaného slova), 7 bodu

steady (57) ..... . However, it will be years before the designers of computer IMPROVE

games machines can beat their (58) ..... challenge yet - the ancient BIG
board game called Go. The playing area is (59) ..... larger than in chess CONSIDERABLE
and there are far more pieces, so that the (60) ..... of moves is almost COMBINE

Pf. http://www.esl-lounge.com/student/advanced/cae-034-word-formation-exercise.php



http://www.flo-joe.co.uk/cae/students/tests/mcclze3.htm
http://www.esl-lounge.com/student/advanced/cae-050-key-word-transformations-exercise.php
http://www.esl-lounge.com/student/advanced/cae-034-word-formation-exercise.php

Uloha D: doplInéni spravného slovesného tvaru (slovesny rod, ¢as a vid) do uceleného textu, 8 bodd

Pf. http://olmo.pntic.mec.es/~renciso/ejercicios 1/tiempos%20verbales gapfilling 1.htm

English for Specific Purposes (celkem 35 bodti)

Uloha A: pFepis matematické symboliky do slov, 8 bod(

Rewrite the notation into words: Ix €ER:x+0=x.

Uloha B: Gloha zaméFend na testovani frazi specifickych pro matematicky text v jedné z nasledujicich
forem: fragmentarni preklad, vétné transformace, nebo volba vhodného doplnéni vét, 4 body

Translate the underlined Czech phrases. The number of words to be inserted should correspond to
the number of gaps to be filled in.

Rikdme, 7e vektor délky 1 je jednotkovym vektorem.
A vector x of length 1 be a unit vector.

Complete the second sentence so that it has the same meaning as the first sentence, using the
word given. Do not change the word given. You must use between two and five words, including
the word given. (Mathematical notation is considered as one word.)

For an injective function f(x) = f(y) implies that x = y. IF

For an injective function,

Complete each sentence with the correct phrase.

In all that follows, we shall omit the max and min.
a) for simplicity of notation
b)  with simplicity of notation

Uloha C: doplfiovéni (kandidat zkousky doplfiuje do uceleného textu slova z roziitené nabidky slov), 9
bodl

Insert a word into each gap from the box.

single - system - complex - derivative - ... - ...

An ordinary differential equation is a differential equation in which the unknown function (also
known as the dependent variable) is a function of a /1/ independent variable.
In the simplest form, the unknown function is a real or /2/ valued function,
but more generally, it may be vector-valued or matrix-valued: this corresponds to considering a
/3/ of ordinary differential equations for a single function. ...

Uloha D: oprava vét (kandidat zkousky opravuje véty v uceleném textu nebo izolovanych vétach,
které obsahuji nejvyse jednu jazykovou chybu), 6 bodu

Matrices can be substracted if they have the same order. (substracted opravit na subtracted)
Uloha E: dopliovani zékladnich matematickych terminG do definic, 8 bod(

The of sets A and B is the set consisting of all objects that belong to A and belong
to B at the same time. (intersection)


http://olmo.pntic.mec.es/~renciso/ejercicios_1/tiempos%20verbales_gapfilling_1.htm

Pisemny projev (celkem 15 bodii)

Akademicky esej — vybér ze tfi témat (kandidat zkousky pise kratky akademicky esej v rozsahu 190
[+/- 10] slov na zvolné téma), 15 bod

Pf. http://www.examenglish.com/CAE/cambridge advanced writing partl.htm



http://www.examenglish.com/CAE/cambridge_advanced_writing_part1.htm

